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@ Show  Maat -

IS G\G‘\ w are any three mu-\vq\\y l—;ar]zn,nd\'c,u.\a(‘ unit veckors

n R and C= aG+\oT§-+cG)
Tc\m a= FTL , b="v.& and ¢ = F\:
\_.‘6$vu‘nj; rmuit \n)?clfes usu=\ U0 = wWew =1
Ue O-=— O Jewy=-0
Lo = 0O

C= AU + bo + ¢c&

Da F.u:a_\

Med wamma 0.(%1._\\(\«9-‘(\}5 l\eexc\;cknav o

‘a\\&c&k a.o&sms\/.a?e/n: + acren

FoU= (autbT ) e U = gedasiabua och dushalaubion
operation
- aAd-U + b Gy ch.u T U=T- = o
- a.1 Ypo 4 c.o {GG:E@’:O

aUD(I) ’+bG'0r) '\'C—(U.).B - ‘ V:-Q:Q \
ao 4 v.o 4C.\ =cC
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@ Re 50\0«;3 a Vechor in ‘ze/((dm&* aalar  ducecheny
j_(; @ s avoniecoveckor and o s any veckor ,
Fod veclors W and v suclh Hat W= X4 O
v/ toa and T _\ 4o @.
l_.,'%sl'\mj . ?74\04
w
/ o — - — —_, — —
il - o = U U w/a = us=A

?\.G" = LQG-\- bﬁ'{—c_tfo\.O' =

A Uo + VT eU + C ool —

ao 4+ vl yc.o = VL = |V.7= b |
F\.LT) = LQG—Q\DF«-CE\.CS -

Pl



d o= UAT = ra + 0
G.i-U-a+v.d  (Taia)
;.05: = %a.la O
= N T .a; - . — — .
= iy Da ar w = ?mJLo + U
E\“.a a
B . (3.3)a 4+ 0O
(@.a)

]

A \O?) <idan 9932

@ N Find a untt veckor (U’ersor) f—err.end\'cu\ar o Hee
'P\d‘ne, Con“'d.in'lhj Ha FPomts L:(Q\O,O) , B= (Ol\olo) C,:(qo,c)

2) What ie +ie area 0_2, the ‘\\’\anj\ﬂ. wilh Heege > Ver—Hces?
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mn
A gl’/lﬁﬂff—\_rr
l
A,D) (Co °,C ) /

p—

“T‘j_—“— ‘(I = norma;l VQC—'\'OY‘.

\ .

W = AR = (O.bﬁ)" (e 0,0) = (—&\ b, o) (S 2 vikbaings velkhorg

au f\a"\ et

o= AC - (Olo,c,) - tho.o)
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—_—

_C(b.c—o) —j(_ac_—O) + \'{.(o.b> =

(be) U + QC:Y + abW = ﬁ

f'?\: i - (bCI QCI Q\D)
M

V(oe)™ + cac)* +(ab)”

A =
’ /*—7 "

c é\A— JZ—'AQ: _!2.'“3)(3’“

Vv

|
X
ql

@ Tind a unk vector with ?osr\\'\m _(2 u:m‘:onerfh

tat s ?e.r‘-mndiw\a.( {o ot 9&.—3— -2k ©och QC—3$+V.

\..\QlSV\AY\j
U= (').‘1,'2) . .
Wl A BLT <> B/ UxT
0’:(2'~3'\)
Uxv = T N “

-k = (F,6 A4 W= —-uxo _ | (F,6,4) = 1 (364
\ T xS V4g+26+\k \V1or

W= A
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